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lacultl of Cosmctic Tech.
NI.Toch. (Cosrnotic Technology) Scmester-I Exauriuation

BIoSTAI'ISTICS
(Comm0o for All tlrenches)

Paper-lT4

Timc : Thrcc lloursl [Maximum Marks : 40

Note :-(1) ALL questions carry equal marks.

(2) Answcr FOUR questions.

(3) Non-scicntific calculator is allowed.
(4) Use pen of Blue,'tslack inldrefill only for writing the answer book.

l. (a) Find out the 'P' valuc of the following groups :

Group A : 2 4 6 8

Group R : 12 14 16 18

Group C : 25 28 30 35

Givcr [(2, 9), df at 0.05 level is 4.26]. 5

(b) An l-Q Test was administered to i persons beforc and aftcr theJ'are traincd. the rcsulls
arc given bclow :

Persons : I II III M
I-Q before trairing : ll0 120 123 132 12.5

I-Q after training : 120 ll8 125 136 121

Test $hether thele is any change itr l-Q after training programme. It is gjven that
loor = 4.6 for dl 4 5

2. 1a) The following results were obtained ftonl two indcpcndent samples :

Sample Sample Size Sample Avcrage Standard Dcvirtion
46294.0
85252.1

Test u,hether thc t!I,o samples may be regarded as a drawn ftom the samc pond of
natuEl populatioD. (Given F"o, at 5, 4 df is 6.26) 4

(b) A random scmple ol'tsomba) university wcs sclcctcd and asked. lheir opinicn .,boul
"Aulonomous college'. t he rcsult arc given below. 'l he safic no. of each sex \vas
included within each class groun. Tesr thc hypothesis at 5% level of that opinions are
independenr of the class gr;upihg ? tX]," -'i.. , ". ,. - 7.81471
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l. (a) Find thc two reg.ession equations iiom the folloraing pairs of observations on X and
Y: (1,2), (2,3). (3.5r. (1.6). (5.4). Ilcncc find the prcdicted value ofY when
X - 2.5 and prcdicted ralue of X when Y - .1.5. 6

F.xplain the difference hetrvccn Correlation zmd Rcgression. 1

'lhe follorving iable giYes lhc marks obtained b) students in Bioslatistics. Find the
Mean, Medi& and Mode :

I\{arks No. of Students

2t 30 38

31 40 125

41 50 84

51.-60 .15

61 70 36

71 E0 10 7

Wdle a short nole on 'Frequenc) Pcl\'gun l
ln ordor to ilnd thc corrclalior coefficienl betwccn t\\o variablcs X and Y from 12 pairs
of obscrvalions. the ft,llorving calculalions rvcre made :

Ix = 30. X,'- : 5, Ixr - 670. )1' - 285. Ixv = ll4.
On slbscquent verification, it was lound that the pair (11, 4) was copied wrongly. the
coracct value being (10. 14). Find thc conect l'aLue of correlation coemcient. 6

The cata on the number ol lrinch spot on wing olAnopheles mosqLritocs ?., 4. 5.2. 7 .

l;ind Skewncss and KLrrtosis. ,l

Comlutc Nlcan. Standrrd dc\iation and Coellicient oi variation liom thc iotlLtuing
frequency distribution :

Scorcs Frcquency

10 19 1

2) 29 5

30 -39 3

40--49 5

i0-59 r

60 69 12

10-19 25

80-89 :10

90-99 r 0 ?

What are the disadvantages of Non-paramclric tcsl I l
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